7. A railway coach, having ordinary cross-seats, is
travelling at 4m/s. A person runs at 5m/s on the
platform. In what direction, he must run so that he
may enter the railway coach parallel to the seats ?
Also find the velocity with which he enters the

coach. 20 | : 24048
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8. Acaris travelling' on a level track of a radius 50 m. ‘
Find the maximum speed at which he can travel on ENGINEERING MECHANICS
the curved track, if the coefficient of friction between _ Paper : ME-205-F
the tyres and track is 0.45. 20
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SECTION-D

Time : Three Hours ] [ Maximum Marks : 100
Before answering tP‘ze questions, candidates should ensure that they have
been supplied the c<erect and complete question paper. No complaint in

this regard, will be entertained after examination.

9. Draw SFED: and BMD. for a Cantilever Beam
carrying a uniform distributed load of w N/m. Also
find out point of contraflexture. 20

Note: Attempt five questions. Question No. 1 is
compulsory. Attempt at least one question from
each Section.

1. Explain following : 4 x 5 =20
(a) Varignon's Theorem
(b) Static Indeterminancy

(c) Difference. between Center of mass and Centre of
gravity

(d) Work Energy Equation
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. Explain the method of Integration to find Centre of
Gravity of regular figures by taking an example of any
regular figure. 20
SECTION -C
. Find moment of inertia of a hollow section shown in
figure about an axis passing through its centre of
gravity and parallel to X-X axis. ‘ 20
<« 200mm __
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